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g fiz BEEKA TOTAL HDCP NET
@A=F )Y
1 H#R FBEA 44 43 87 O
1 T A& 45 42 87 *
1 ER = 45 42 87 @)
4 A¥ EE 44 44 88 O
4 BEA EX 47 41 88 O
6 AR — 45 44 89 @)
[(FTLRYF7DE]
1 MR FE 47 50 97 27.6 69.4 @)
2 HLE BT 47 44 91 20.4 70.6 @)
3 Mk &z 54 46 100 276 72.4 @)
4 Bl @K 48 44 92 19.2 72.8 @)
5 EH BH— 48 45 93 19.2 73.8 @)
6 WL R 52 46 98 24 74
6 A M2 43 55 98 24 74
8 $Er R 44 47 91 16.8 74.2
9 fRE BE 47 50 97 22.8 74.2
10 M . T 48 52 100 25.2 74.8
11 Il IEX 55 50 105 30 75
12 mE B 58 53 111 36 75
13 = R 50 53 103 27.6 75.4
14 FHR E3h 51 45 96 20.4 75.6
15 AR FHE 47 53 100 24 76
15 HH LR 51 49 100 24 76
15 FH &R 49 51 100 24 76
18 XH &F 55 57 112 36 76
19 =1 52 52 104 276 76.4
19 Bl B— 52 52 104 27.6 76.4
21 iZE & 47 50 97 20.4 76.6
22 A —% 55 54 109 32.4 76.6
23 ARH EFA 52 49 101 24 77
24 T8 HE 53 60 113 36 77
24 A IEFE 58 55 113 36 77
26 hit BwE 50 49 99 216 77.4
27 F ¥ KEA 51 54 105 276 77.4
27 B A 52 53 105 27.6 77.4
29 EH F# 60 51 111 33.6 774
30 A XB 46 46 92 14.4 77.6
31 £ FX 53 51 104 26.4 77.6
- e . bEISA RS ORER UTFOIEIEE T LRYT - NoTFr¥ vy T LR 36

REBEHIBCRESZE - [JORDEIE2A (WPOER]SR 21 :Bh@EE 1/3R8—=2



CI:F
& fiz BHEKA ouT IN TOTAL HDCP
32 ZIN KA 55 53 108 30
32 e RE 61 47 108 30
34 ¥ = 61 53 114 36
34 AH# BE 62 52 114 36
36 M .Y 53 42 95 16.8
37 O .F 50 49 99 20.4
38 EH &EE 54 51 105 26.4
39 AFt ERXR 56 54 110 31.2
40 hig #ath 49 54 103 24
40 IR®E BA 52 51 103 24
42 fit5l K& 53 56 109 30
42 BAR F 54 55 109 30
44 Hl BT 59 56 115 36
44 MR FE 62 53 115 36
46 NS BHE 60 54 114 348
47 fHE 48 47 95 15.6
48 HEY R 55 46 101 21.6
49 =E JT— 62 51 113 33.6
49 Ko BEA 59 54 113 33.6
51 B B 50 54 104 24
52 =) A 59 51 110 30
53 hH B 58 58 116 36
53 KB FFE 65 51 116 36
53 Kz &E 59 57 116 36
56 Mk F 46 51 97 16.8
57 AP E—EB 51 58 109 28.8
58 BE ® 56 52 108 27.6
59 L & 57 57 114 33.6
60 b N 59 48 107 26.4
60 FAR @17 52 55 107 26.4
62 T8 #4&E 60 53 113 32.4
63 7a)Il FEE 54 52 106 25.2
64 HH E=8 61 51 112 31.2
65 Bl EF 52 52 104 22.8
66 Bpg Fah 53 57 110 28.8
67 =2 2 63 52 115 33.6
68 M T 56 45 101 19.2
69 EE =A 56 56 112 30
70 o #5 57 60 117 34.8
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78
78
78
78
78.2
78.6
78.6
78.8
79
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79
79
79
79
79.2
79.4
79.4
79.4
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& fiz BHREKA ouT IN TOTAL HDCP NET FREiE
71 EERY RE 61 58 119 36 83
71 " FE 61 58 119 36 83
71 HER &% 58 61 119 36 83
74 HiE#E ik 54 52 106 22.8 83.2
75 +JIl B£8R 59 58 17 336 83.4
76 MR &ih 53 56 109 25.2 83.8
77 baK 62 58 120 36 84
77 B X 63 57 120 36 84
77 INFR FF A 60 60 120 36 84
80 iEBE = 61 60 121 36 85
80 F A 57 64 121 36 85
82 KA B 56 64 120 34.8 85.2
83 =E JT— 62 51 113 27.6 85.4
84 %P X457 62 55 117 31.2 85.8
85 Fill Fz 63 59 122 36 86
86 ht B 66 57 123 36 87
86 L% I 66 57 123 36 87
88 f&5n Bt 60 64 124 36 88
88 FH =0 63 61 124 36 88
90 CH B 67 58 125 36 89
91 #?BRK BEA 65 61 126 36 90
91 AR & 63 63 126 36 90
93 ZH FIE 66 61 127 36 91
93 A KEf 67 60 127 36 91
93 EK FIX 64 63 127 36 91
96 55 B 62 66 128 36 92
97 mes = 66 63 129 36 93
08 " =& 62 68 130 36 94
99 R BE 69 62 131 36 95
100 e 5 68 64 132 36 96
101 L% Em 69 64 133 36 97
102 Bl ERE 69 65 134 36 98
103 HEF =hE 69 69 138 36 102
104 g —A 73 73 146 36 110
105 H5R # 71 77 148 36 112
KitAE . ERISBIFTORES . LTDIEBGLIEE T ILRYT - n\oT14Fx vy T LR 36

REBEHIBCRESZE - [JORDEIE2A (WPOER]SR 21 :Bh@EE 33—



